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re' ñ,shk 

jir  wdfhdackh  wdodhu  fufyhqï msßjeh uqo,a m%jdy iuqÉÑ; uqo,a m%jdy 

0 (180.00) 

  

(180.00) (180.00) 

1 

 

50.00 (30.00) 20.00 (160.00) 

2 

 

80.00 (40.00) 40.00 (120.00) 

3 

 

100.00 (50.00) 50.00 (70.00) 
 

4 

 

110.00 (60.00) 50.00 (20.00) 

5 20.00 80.00 (40.00) 60.00 40.00 

 

ms<sf.jqï 

ld,h = jir 4 + (20/60) * udi 12 

  

jir 4 udi 4 

  



a) (i) 
úl=Kqï ñ, úp,kh = úl=Kqï jákdlï úp,kh - úl=Kqï mßud úp,kh 

 

= re. 600,000 jdis - re. 360,000 wjdis 

 

= re. 960,000 jdis 

   

úl=Kqï ñ, úp,kh iEu úgu úl=Kqï ñ, wdka;sl úp,khlg iudk jk neúka re' 400"000 ^jdis& 

ms<s;=r ksjerÈ ms<s;=r f,i .; yelsh'  

^,l=Kq 02& 

(ii)  
úl=Kqï mßud wdka;sl úp,kh = úl=Kqï wdka;sl úp,kh - úl=Kqï wdka;sl ñ, úp,kh 

 

= re. 150,000 wjdis - re. 960,000 jdis 

 

= re. 1,110,000 wjdis 

   
úl=Kqï ñ, wdka;sl úp,kh re' 400"000 ^jdis& ie,lSfï§" úl=Kqï mßud wdka;sl úp,kh          

re' 550"000 ^wjdis& f,i .; yelsh' 

^,l=Kq 02& 
b) (i) 
úl=Kqï ñ, úp,kh = i;H m%udKh x ^whjeh.; ñ, - i;H ñ,& 

re. 960,000 jdis = i;H m%udKh x (40 - 50) 

i;H m%udKh = re. 960,000/10 

    i;H m%udKh = tall 96,000 

     
(ii)  
úl=Kqï mßud úp,kh = m%ñ; ñ, ( m%ñ; úl=Kqï m%udKh - i;H úl=Kqï m%udKh) 

re. 360,000 wjdis = 40 ( m%ñ; úl=Kqï m%udKh - 96,000) 

360,000 / 40 = 

 

( m%ñ; úl=Kqï m%udKh. - 96,000) 

m%ñ; whjeh.; úl=Kqï tall    = 

 

(9,000) + 96,000 

                                                        =    tall 87,000   
^,l=Kq 03& 

^uq¿ ,l=Kq 10& 
 









  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
d) 

Optimum production mix 
Point C is the optimal production mix in which 20,000 Units of Chips and 17,000 units of 
Choco will be produced.  

 
e) 

Contribution calculation under corner point method.  
 
Corner point method 
A Y=30,000 , X=0 
 (30,000 X 20) + (0 X 26) = 600,000 
  

B X=9,300 ,Y=30,000 
 (9,300 X 26) + (30,000X20) = 841,800 
  

C X=20,000 ,Y=17,000 
 (20,000 X 26) + (17,000X20) = 860,000 
  

D Y=0 , X= 20,000 
              (0 X 20) + (20,000 X 26) = 520,000 

  



A 
a) 

re. 000 whjeh   kuH 

whjeh 

i;H fjki  

mßudj 125,000  138,000 138,000 - 

úl=Kqï 27,500.00 27,500/125*138 30,360.00 30,153.00 (207) 

úp,H msßjeh      

øjH msßjeh (5,750.00) 5,750/125*138 (6,348.00) (6,520.50) (172.5) 

Y%u msßjeh (7,500.00) 7,500/125*138 (8,280.00) (8,298.40) (18.4) 

ksIamdok fmdÿld¾h msßjeh (5,000.00) 5,000/125*138 (5,520.00) (5,752.30) (232.3) 

fnodyeÍfï fmdÿld¾h msßjeh (1,187.50) 1,187.5/125*138 (1,311.00) (1,290.30) 20.7F 

mßmd,k fmdÿld¾h msßjeh (900.00) 900/125*138 (993.60) (883.00) 110.6F 

uq¿ úp,H msßjeh (20,337.50)  (22,452.60) (22,744.50) (291.9) 

odhlh  7,162.50  7,907.40 7,408.50 (498.9) 

ia:djr ksIamdokh (2,375.00)  (2,375.00) (2,450.00) (75) 

ia:djr mßmd,k msßjeh (540.00)  (540.00) (540.00) - 

uq¿ ia:djr msßjeh (2,915.00)  (2,915.00) (2,990.00) (75) 

,dNh  4,247.50  4,992.40 4,418.50 (573.9) 

^,l=Kq 09&  





B) 
a)  

Rcq Y%u wkqmd; 

úp,kh = i;H meh  x (m%ñ; wkqmd;h - i;H wkqmd;h) 

 
= 450 - (8,298,400/18,860) x 18860 

 
= 188,600 jdis 

    ^,l=Kq 02& 

b) 
Rcq Y%u ld¾hlaIu;d 

úp,kh = 
m%ñ; wkqmd;h x (m%ñ; meh - i;H meh) 

  
 450  x (138,000*8/60  - 18,860) 

  
 207,000 wjdis  

    ̂,l=Kq 02& 

c) 
 

fufyhqï m%ldYkh 

   

 

re. ’000 re. ’ 000 re. ’ 000 

whjeh.; odhlh   7,907.40 

úl=Kqï úp,;djh   (207.00) 

   7,700.40 

úp,H msßjeh wjdis  jdis  
Rcq øjH ñ, úp,kh 

 

144.90  

Rcq øjH Ndú; úp,kh 317.40   

Rcq Y%u wkqmd; úp,kh  188.60  

Rcq Y%u ld¾hlaIu;d úp,kh 207.00   

úp,H fmdÿld¾h úhoï úp,kh 94.30   

úp,H fmdÿld¾h ld¾hlaIu;d úp,kh 138.00   

fnodyeÍfï fmdÿld¾h msßjeh úhoï úp,kh  110.60  

mßmd,k fmdÿld¾h msßjeh úhoï úp,kh  20.70  

uq¿ úp,H msßjeh 756.70 464.80 (291.90) 

i;H odhlh   7,408.50 

 
^,l=Kq 06& 

^uq¿ ,l=Kq 25& 

  




